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GENERAL KNOWLEDGE

1. w2025 ® grar faferaes & @ geeft W e aret Sidie At & s am g 7

INREEZESICTS (B) SReft gE (C) S T (D) g foemr
What is the name of the astronaut who returned to earth along with Sunita Williams in March 2025 ?
(A) Victor Glover (B) Jeremy Hansen (C) John Glenn (D) Butch Wilmore

2. TIHd TSI 3T S8 WRa 1 58 91 T4 319ARY Hifya fopa o, frafetfaa o @ fhm o=a °
e e e
(A) HETeTE (B) WeAIGH (C) HfoTgT (D) HERTSE
Madhav National Park that was declared India’s 58" Tiger Reserve is situated in which of the following
States ?
(A) Meghalaya (B) Madhya Pradesh (C) Manipur (D) Maharashtra

3. frfafiga & @ feraent 2024 8 ‘i@ & @ e o w2
a. . TF. WA

b. =erdt = T

c. F 3T

d. g e

= feu e fyehedt # @ @&t I g

(A) o a (B) Shad ad b (C) e a,bd ¢ (D) e a,b 9 d

Who among the following has been awarded ‘Bharat Ratna’ in 2024 ?
a. M. S. Swaminathan
b. Chaudhary Charan Singh
c. Karpoori Thakur
d. Harmanpreet Singh
Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb (C) Onlya,bandc (D) Only a,bandd
4. TEICE gsia 3y fefafga 4 @ fra s o fea 8 2

(A) HETICH (B) ST (C) BrftaTe (D) e

Mhadei Wildlife Sanctuary is located in which of the following States ?

(A) Madhya Pradesh (B) Uttar Pradesh (C) Chattisgarh (D) Goa
5. FHR Gid 1 ST W 3R $IHA § bl T&dT & Sl J&Ia: &A1 8l §

(A) ST HEHE H (B) Hifyem ®RThe 1

(C) e HIHS < (D) hicyRm 3T 1

Our tooth crown remains capped with hard enamel which is principally made of

(A) Calcium Carbonate (B) Magnesium Phosphate

(C) Calcium Phosphate (D) Calcium Oxalate
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6. TA.3.M. 2020 % AR HieAtheh forenmera feq o sw=ata fora shemmati i smfe foran w2 7

(A) HETT 6T HaTT 9 (B) heTT 4 T el 6
(C) SeTT 59 e 8 (D) eI 6T hefl 8
Which classes are included in the middle school education according to NEP 2020 ?
(A) Class 6 to Class 9 (B) Class 4 to Class 6
(C) Class 5to Class 8 (D) Class 6 to Class 8
7. Trafafea § @ fraa awy fren 61 sragmon 1 gfadre form o 2
(A) it arfere (B) TamH} g
(C) Tt faaerr= (D) 39IF | T HIE &I
Who among the following propounded the concept of Integral Education ?
(A) Sri Aurobindo (B) Swami Dayanand
(C) Swami Vivekanand (D) None of the above
8. FH —I ! FA - 11k Ty Fuferd L |
g -1 g -1l

a. Toreren forem . T1.3. 9. 2020 FT1 1 23

b. FrENfiehl <1 39T Il T1.3.91. 2020 1 ™ 20

c. SATFETREs et . T.3.91. 2020 1 37EA 21

d. e faram IV. TA.3.9. 2020 T 3™ 15
= fou e e # @ T IW T
e :
(A) a=IV,b=1,c=1l,d=1lI B) a=IV,b-1,c=1l,d=1
(C)a=Lb=1V,c—=IllIl,d-1l (D) a=lL,b=IV,c—=Il,d=Il
Match List — | with List — II.

List -1 List -1l

a. Teacher education I. Chapter 23 of NEP 2020

b. Technology use Il. Chapter 20 of NEP 2020

c. Professional education [ll. Chapter 21 of NEP 2020

d. Adult education IV. Chapter 15 of NEP 2020
Choose the correct answer from the code given below :
Code :
(A) a=IV,b=1,c=1l,d=1l B) a=IV,b-1,c=1ll,d=-1
(C)a=Lb=1V,c=Illl,d-1l (D) a=lL,b=IV,c—1Il,d-1l

9. TAZW. 2020 3.H . H 5. T AT ?
(A) IR STcaTaET i c@9Te 3R fIrem (B) IRk s shiegd frem

(C) s h I=q f3rem wa e@vra (D) =9 T FHIS @A TF e
In NEP 2020, ECCE stands for
(A) Early Childhood Care and Education (B) Early Childhood Centered Education

(C) Enhanced Childhood Caring and Education (D) Efficient Childhood Care and Education
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10. T=fefaa § @ o1 T IRa § TS geaieh Td Jeamad aRue (NAAC) 1 TTifires ®ishd & 7

11.

12.

(A) BT 1 Tt TETEar YgH ST

(C) = T31en TEUMT T Team=

(NAAC) in India ?

(A) Providing financial aid to student
(C) Accreditation of higher education institutions

(B) Tervaforamer™ vt qhien i e

(D) TEAHT H =M hiE 1 fafema

Which one of the following is the primary focus of the National Assessment and Accreditation Council

amfeies foehra % foTw PURA gfseehion frmferfiaa & & fererh femm <t 3ot 2 2

(A) HHTEA g
(C) 3mcd T

(B) U. |I. §. 37egd HA™
(D) STH H F hrE T

(B) Conducting university entrance examinations
(D) Regulating tuition fees in institutions

PURA approach to economic development is the brain child of who among the following ?

(A) Manmohan Singh
(C) Amartya Sen

(B) A.P.J.Abdul Kalam
(D) None of the above

T — | 1 G - 1 gufaa e aun e b e U T ge 9 78 W w1 = Hif |

g -1 g -l

(=) (T 3E)
a. TSy | T U 3T
b. BTG 1. T aeft dia sam
c. 3™ 1. 3gTact TSI 3T
d. feamra IV. ShaeTed TS 3T
Fe

(A) a—IV,b—1ll,c—1l,d—1
() a=1ll,b=1V,c—1,d—Il

B) a—IV,b—1lll,c—1,d—1lI
(D) a—Ill,b—1IV,c—1l,d—I

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1
(State)
a. Rajasthan
b. Chhattisgarh
c. Assam
d. Himachal Pradesh
Code :
(A) a=IV,b=1lll,c—1l,d-1
(C)a-=1ll,b=1V,c—1,d=1l

List -1l
(National Park)

Manas National Park

. Pin Valley National Park

. Indravati National Park

Keoladeo National Park

B) a—IV,b—1ll,c—1,d—Il
D) a-lll,b—1IV,c—1l,d—1
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13, T& + 20 gora: frafafea @ @ fraa arafm 2 7

N UREREETE (B) gaq fesrma

(C) SHEEaT frRmE (D) I GR&TOT

Rio + 20 is mainly related to which of the following ?

(A) Economic development (B) Sustainable development
(C) Population control (D) Forest protection

14. ‘CUAH AR, 1 71 37 g 7

(A) T Jedeh wie TgaH (B) TETTTd 81 wIe UgEH
(C) 31 o Wi Y= (D) TerETAd TS Wi Tge
What does ‘ANPR’ stands for ?
(A) Automatic Network Plate Recognition (B) Automatic Number Plate Recognition
(C) Advanced Number Plate Recognition (D) Automated National Plate Recognition
15.  ‘gaq faem’ &1 foar g av sifeaea & smn ¢
(A) 1972 (B) 1980
(C) 2007 (D) SujFd # § IE TE
In which year did the idea of ‘Sustainable development’ came into existence ?
(A) 1972 (B) 1980
(C) 2007 (D) None of the above
16. Trafafea & @ & we fiHgRa 19 8 ?
(A) HiET (B) Eiferm
(C) TTEENHA (D) HTEH THISTFTES
Which one of the following is a greenhouse gas ?
(A) Methane (B) Helium
(C) Hydrogen (D) Carbon monoxide
17. Trfafed & @ forg 2024 B et Snifa Qe & FemTia fomam 2
(A) FeT 3@ (B) 3T I g
(C) Wl B3 (D) TEM feemeril
Who among the following was awarded the Nobel Peace Prize 2024 ?
(A) Mother Teresa (B) Aung San Suu Kyi
(C) Malala Yousafzai (D) Nihon Hidankyo
18. Traferfea § @ &1 T S a1 hisHe fHeM AieHT & qoid: g & o1 ?
(A) TETeHT et (B) JaT& & I8&®
(C) TER A (D) HIAHT 37 HelTd 3TATG
Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?
(A) Mahatma Gandhi (B) Jawahar Lal Nehru
(C) Sardar Patel (D) Maulana Abul Kalam Azad
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19. 2005 T ST BT FAIE! HICIhicl T AT Ie2d T & 7

(A) ISTTd HETEFR § Ifd Eifud s (B) Af3Teh HTaA SR ST
(C) HETENRIA Yguu1 ! Tt e (D) TERE Tl o IcHaiA ! HH BT
What is the primary purpose of Kyoto protocol which came into effect in 2005 ?
(A) Establish peace in the pacific ocean (B) Create a global carbon market
(C) To regulate ocean pollution (D) To reduce the emission of greenhouse gasses
20. 1857 % fagig & q& va
a. T eiaTg
b. T qUSH
C. SIRlgl ATe STl
d. #X fEr 3reh
i fe e forebedt § @ T SR YR
(A) e a, b, ¢ (B) sad b, ¢, d (C) e d, a, b (D) e ¢, d, b

Main leaders during the Revolt of 1857
. Rani Laxmibai

. Bahadur Shah Zafar

a
b. Mangal Pandey
c
d. Mir Nisar Ali

Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) d,a,bonly (D) c,d,bonly

21. T A A A FaTg Jumeht % ey § ffefaa § @ -8 wuw wd § ¢
a. WL ¥ T BRIl qeq a%“f 21
b. T T I IAHET | B |
c. TS AT JH T JoTeA! h TErreh At & |
d. §H & T % gIfed e H THE TS T R |
o few T feredt § @ Tl IwC A ;
(A) e a, b, ¢ (B) %ad b, ¢, d (C) %ad a, ¢, d (D) e a, b, d
With reference to river Ganga drainage system, which of the following statements are correct ?
a. The Ganga river system is largest in India.
b. Ganga rises in the Uttarkashi.
c. Satluj and Jhelum are tributaries of Ganga system.
d. Son river is its major right bank tributary of Ganga.
Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) a,c,donly (D) a, b, donly
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22, W el fefifad d @ fracwd @ g 2

(A) ST (B) <M (C) wrd (D) TTfehEdT™
Khyber Pass is situated in which of the following countries ?
(A) Bangladesh (B) Bhutan (C) India (D) Pakistan

23. ‘simaNfaE ywE ffafea § 9 fermen qfom @ 2

(A) HERETTR eTd (B) et st Tuid

(C) IHYESH g fi=ramd (D) ST <l TecaTehyvl fa=me
‘Coriolis effect’ is a result of which of the following ?

(A) Ocean currents (B) Earth’s rotation

(C) Atmospheric pressure differences (D) The gravitational pull of the moon

24, Toredl sIadl, St STl snefuss @fifa (10C) 6t e gt I areft ugelt ufgen s+, frafafaa

Tafracnasd?
(A) ForsTea (B) JATESferaT
(C) STSite (D) T T TR

Kirsty Coventry, who became the first woman to be elected as President of the International Olympic
Committee (I0C) is from which of the following countries ?

(A) Zimbabwe (B) Australia

(C) Brazil (D) United States of America

25. fr=fafga 9 @ Si9-a1/3 TS SHEEn Fifd, 2000 % 329 2/ 7
1. 2045 T TTEEAT R & |
2. T Jg&X I 100,000 Sifad =41 T 100 § 1= A |

e feu 7T e | FE ITW 1 =TI HINT

Fe

(A) had (B) et 2

(C) 1 3R 2 gt (D) AT 1 IMAE 2

Which of the following is/are the objectives of National Population Policy, 2000 ?
1. Population stabilisation by 2045.
2. Reduce maternal mortality rate to below 100 per 100,000 live birth.

Select the correct answer from the code given below :

Code :
(A) Only 1 (B) Only 2
(C) 1and 2 both (D) Neither 1 nor 2
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26.

27.

28.

ffafaa & @ 9 go@ gfrg 4o awm # 2

1. I IR

2. §ig SN

3. Ra § fordlt ot feuiforedt & @ e feuifored @

= feu T e @ TE 3T H == I

He:

(A) had 1 (B) whadt 1 3 3 (C) et 2 3 3

Which among the following are the best known capital markets ?
1. The stock market
2. The bond markets
3. A depository account with any of the depositories in India
Select the correct answer from the code given below :
Code :
(A) Only 1 (B) Only 1 and 3

A T fOherhl <l T fepem i 7

(A) ST, 2. fogen wa 9. AW €. @
(C) weTeT et TH reruTE NS

Who established FICCI in India ?

(A) G.D.Birlaand J. R. D. Tata

(C) Mahatma Gandhi and Dadabhai Naoroji

(C) Only2and3
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(D) e 1 3R 2

(D) Only 1and 2

(B) JUITHETE ST Td i, <. forgen
(D) TUEIIUEIE 3G Td A, 3. &, 2T

(B) Purshottamdas Thakurdas and G. D. Birla
(D) Purshottamdas Thakurdas and J. R. D. Tata

Tt — | 1 G - 11 % |1 gafera hifse qen gieei o i for T e @ w8 3w g |

Tt -1 il
(AFrHT 3% TR (svgeeh)
a. Tafer = Tmer Tmma 1 TR | ST - 14
b. &Y % STUR W WeTd H FLa II. 3TIET - 15
c. 3T shl HHFAI IIl. 3Tg= - 16
d. STEIET o 37 IV. 3E=T—17
%c:
(A) a-—1I b—1ll c—1l d-1Vv
B) a—1I b -1l c—Il d-1v
(C) a-I b -1l c—1IVv d-1l
(D) a-1 b-1 c—1l d-1v
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -1l
(Types of Rights) (Article)
a. Right of equality before the law I. Article —14
b. Protection from discrimination on religious ground II. Article—15
c. Equality of opportunity Ill.  Article — 16
d. Abolition of untouchability IV. Article —17

Code :

(A) a—1I b-Il c—1l d-—1v
(B) a—1I b-Ill c—ll d-—1v
(C) a-—I b-Ill c—1Vv d-1l
(D) a-1 b-1 c—1l d-1v
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29. IhEHT i Rehay e g fulfa 2

The maximum number of members in the Lok Sabha is fixed at

(A) 530 (B) 545 (C) 550 (D) 552

30. F - I %1 G - 1| % |1 gafad Hifse qen gieet & e for T e @ wE 3w g |

gt - | gt - I
(r3g=h) (F3entaes TmaEm)
a. 38R 50 | Tsgafd T TR
b. 3TI=EE 143 II. =ATATTeRT 3TN ShrIcTeht o Sl JeeeRtl
c. 3T 61 lll. ek T TR T
d. 31T=E¢ 320 IV. Hated ~TITeT 1 TeTahR SRR
He:
(A) a-=Il b-IV c-I d—1i
B) a-ll b—I c—IV d-Il
C) a-ll._ b-1 c-IVv d-1
(D) a—-ll b-IV c—I d—1i

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List—1I
(Article) (Constitutional Provision)
a. Article 50 [. Impeachment of the President
b. Article 143 Il. Separation between Judiciary and Executive
c. Article 61 lll. Functioning of Public Service Commission
d. Article 320 IV. Advisory Jurisdiction of the Supreme Court
Code :
(A) a=1Il b-IV c-I d-1lil
B) a=Ill b-I c—1v d-Il
(C) a=II b-1 c-1V d-1In
(D) a=Il b-IV c-1I d-Ii
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31. TrfaRed @ @ S9-11 R 96K & fog -2 aren g 7

(A) 3TITd e<h (B) 3cqT HIH

(C) Tt 3rgeH (D) wfreTY 3o

Which of the following is a non-tariff barrier to international trade ?

(A) Import duties (B) Product standards
(C) Export subsidies (D) Countervailing duties

32. forelt o1 &1 T GqeH I AfcifEd ot B 7
(A) hadl <IN o S I 9 A1 HT T8
(B) Tereht <o & franfert @ 91y fova < g TmEa SmfYis o
(C) had <N & o= Sl 1 vaTE

(D) <hael FTHR k1 TS 9 =

The Balance of Payments of a country records

(A) Only flow of goods and services among countries

(B) All economic transactions between residents of a country and rest of the world
(C) Only the flow of capital between countries

(D) Only the governments revenue and expenditure

33. RA H W& facsfht fewn g1 7wt | &1 "ehdl @ - FhH AW 3R

(A) STIR AT (B) S T

(C) Taaferd | (D) 3Ffereha wmt
FDI in India is allowed by two modes — Government route and

(A) Trade route (B) Bank route

(C) Automatic route (D) Approved route

34. UHIE (ASEAN) cfeaurgd Timen & 10 Hew <9 o Hed Ueh AR e § foed aftifera 76 2

(A) WA (B) w3 (C) forram™ (D) §3
ASEAN is a trade arrangement among 10 member countries of Southeast Asia, which exclude
(A) India (B) Laos (C) Vietnam (D) Brunei
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35. A B3 C,3:2:1% 3FUd # AW-BI dicd & | I BSIUR & 310 Bil 7, af A 3 C 1 421
AT T BT ?

A, B and C share profit and loss in the ratio of 3 : 2 : 1. What will be the new profit sharing ratio of A and

C, if B retires from the business ?

(A) 3:2 B) 2:1 (C) 8:1 (D) 1:3

36. = QI YA T T F | T I AMH (A) 3T GE I T (R) HaT T2 |
TR (A) : THIUH AT o TR | Higw) i S |
Tk (R) : AT 1 TN qoTeash &9 8 aga & ditd 319 o fom Sman @ |
IR FOA e B iR e 3§ wd I T
(A) (A) 3R (R) GHT &1 & 3T (R), (A) 1 @l e @
(B) (A) 3T (R) I Tt &, T (R), (A) 1 Tl = T 2
(C) (A) & 7, W (R) TTeid &
(D) (A)TIeTd &, g (R) WET @
Given below are two statements. One is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Vouching is the examination of evidence which is in support of transaction.

Reason (R) : Verification is used comparatively in very limited sense.

In the light of the above statements choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct

37. hIM-HI Ueh Hfddid @rdl 98l g ?

(A) Jded Iad @Il (B) S @l

(C) =Tt T WrdT (D) Ue=E @l
Which one is not a Personal Account ?

(A) Prepaid salary account (B) Bank account
(C) Proprietor’s account (D) Patent account
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38. @R § HETHEH § & W i TR STl &
(A) ISTa E= (B) 3TRATA T=
(C) T "= (D) | T
In accounting, profit prior to incorporation is treated as

(A) Capital reserve (B) Revenue reserve

(C) Secret reserve (D) General reserve

39. & TR @FIA %. 14,000, @19 &, 6,000 T farshl . 1,00,000 &, A ATY-TAT T AT T

When the fixed cost is Rs. 14,000, profit is Rs. 6,000 and sales Rs. 1,00,000 then P/V ratio will be

(A) 14% (B) 20% (C) 25% (D) 30%

40. Afe rferemarer 3w srfemrEw yd ey & S R STa €, A IHeRT I W g 7
(A) THfRa 3nfdes g W veget yame
(B) THferd aMTidies fag W ig g =&t
(C) Y& 9 W IS TN Tl
(D) 37 § T HIE T
If bonus shares are issued out of pre-acquisition profit, it will have
(A) Direct effect on the consolidated balance sheet
(B) No effect on the consolidated balance sheet
(C) No effect on net profit

(D) None of the above

41, I o I B W e iy i Aiiw-fug % = shide d fewmn sar 2

(A) = it (B) el qTfrcd 9 Tau™
(ORSIEI T ERAR ] (D) T=F 3 iy

Premium received on issue of shares is shown in the Balance Sheet under the head

(A) Share Capital (B) Current liabilities and Provisions
(C) Contingent liabilities (D) Reserves and Surplus
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42, Tr=fafed o @ sm-wn nfafafa-snefta amma (at@dh.) 6 v yge foewar 78 2 2
(A) I8 MUfH AT Ueh o &9 H Y81 91 6l W SR <l &
(B) Tg Tfafafer shi Tgem i 3R 3= «nd Ffdse o W & <ar 8
(C) 8 3IcUTel 3R WanaTi 6l ardfas ATd ol GHeH § Heg il &

(D) ST TN oI - Feriwer 3T Icure fsror fofi @t sigar s o ot femem ST deha 2

Which of the following is not a key characteristic of Activity Based Costing (ABC) ?
(A) It emphasises direct labour hours as the primary cost driven

(B) It focuses on identifying and assigning cost to activities

(C) It helps in understanding the real cost of products and services

(D) It can be used to improve pricing and product mix decisions

43, Uftadsfier AmTd 3R fersht @61 3uTd 70 wiasia & | wH-foae famg eman fesht 1 60 gfowra 7 | Afe
TR AT % 90,000 2, 1 &war fesht Rl

(A) &. 3,00,000 (B) %. 5,00,000
(C) ®. 3,75,000 (D) . 2,10,000

The ratio of variable cost to sales is 70 percent. The Break-even point occurs at 60 percent of the capacity
sales. When fixed cost are Rs. 90,000, capacity sales will be

(A) Rs. 3,00,000 (B) Rs. 5,00,000
(C) Rs. 3,75,000 (D) Rs. 2,10,000

44, e S@TT i FAIUREN % qey § Efaiegd § 8 SH-91 HYF Ted 8 7
(A) 3T T T o fiaw et i i e afrifera 2 |
(B) I SATGdTd YeTehi oh UG o HoATh W ohigd & |
(C) 8 Toreuter qeaiehd % fory UferaTires emTa 21 % U W SR T B |
(D) SHe! 327F UR=TEH o FRi0r 3 gerar # U e 2 |

Which of the following statement is incorrect regarding the concept of responsibility accounting ?
(A) Itinvolves the identification of responsibility centres within an organisation.

(B) It focuses on evaluating the performance of individual managers.

(C) It emphasises the use of historical cost data for performance evaluation.

(D) It aim to improve the control and efficiency of operations.
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45.

46.

47.

SIS HHd-TIIERmT § -8 TR il o 3T6H ekt 37eT Hidl & ?

GET IT ON
Google Play

(A) | <6t himd o= (B) | <l 31 A

(C) AW 6 WER A (D) 1T T forsmo= <=

Which type of elasticity plays a crucial role in International Price-Discrimination ?

(A) Price elasticity of demand (B) Income elasticity of demand

(C) Cross elasticity of demand (D) Advertising elasticity of demand

Frefafaa ® € fopg SR =1 4 Sfaies gar o l St @ 7

(A) ot wref (B) ThIfashd Taet

(C) FreuTiErhR (D) THIRIHR

Excess capacity is noticed in which of the following market structures ?
(A) Perfect competitions (B) Monopolistic competitions

(C) Oligopoly (D) Monopoly

Frafefaa = v 3rsn o safed Fif :
. 9aq
II. et
Il dstt
IV. gIR

= feu U e # @ wE W T ¢

%
(A) L1, 1v, B) LIV, 11l
©C) 1L LIV, I (D) 1, M, 11, 1v

Arrange the following steps in a sequence :
I. Slump
Il. Recession
lll. Boom
IV. Recovery

Choose the correct answer from the code given below :

Code :
(A) LI, Iv, I B) LIV, 1,1
(C) I, 1, 1v, 1 (D) I, v

-14-
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48. T U HI-|1 N % T 1 9EE TE 8 7

(A) 35 (B) b~ fertremur
(C) wegH (D) HeTehifa
Which is not an exception to the law of demand ?

(A) War (B) Giffen Paradox
(C) Demonstration (D) Inflation

49. TRl AW Sldstid &

(A) ®ieartear i sTaemon (B) TeheIeRUT Shl JTGEROT
(C) faehdr i Iraemon (D) &€l @l hl ShT
Window dressing is prohibited due to

(A) Conservation convention (B) Convention of disclosure
(C) Convention of materiality (D) Arrear of book accounts

50. 3G T3k Toociuur o STHER, & qUi AT JEqA1 o o= dHwa Sfaeemy et grft

(A) vl &2 (B) Teft &%

(©) fem (D) ¥

As per the indifference curve analysis, the marginal rate of substitution between two perfect substitutes
will be

(A) Increasing (B) Decreasing

(C) Constant (D) Zero

51. Te=fiad § § fore Hoa i wHifa § et 3camg o foe 3= ariye qea faifia & 3k
- T o WY T HH T I | ?

(A) ek <t 7o fufr (B) T 43

(C) T Tenfum (D) ATTA-Td T e

Which of the following pricing strategies involves setting a high initial price for a product and then gradually
lowering it over time ?

(A) Peak load pricing (B) Price penetration

(C) Price skimming (D) Cost-plus pricing
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52. TH-foeag famg it @ foivar 72 @ 7
(A) 1S BT 3TN oW el
(B) HeT 3T A ANTA b T
(C) e TR ATTd & SR
(D) e TRl @rd W %A

Which is not the characteristic of Break-even Point (BEP) ?
(A) No loss and no profit

(B) Total revenue is equal to total cost

(C) Contribution is equal to fixed cost

(D) Contribution is less than fixed cost

53. Tfafad § & SH-81 Hut i STIRAH Yol G T Th HEeaqol HaNH Tal & 7
(A) FTHt BT =T ST
(B) Ut S R ANTA
(C) Ut I 37w AT
(D) U S T
Which of the following is not a key determinant of a company’s optimal capital structure ?
(A) The company’s current ratio
(B) The company’s cost of debt
(C) The company’s cost of equity

(D) The company’s tax rate

54. Tfeafga o & w-a1 wEsha 4 i g T8 2 2
(A) Tefera (B) ST T
(C) WA & IqHT (D) <F @Wd
Which of the following is not a component of working capital ?
(A) Inventory (B) Receivable accounts

(C) Plant and equipment (D) Payable accounts
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55. faxit 3T <1 HIUF BIdT @

30378 .amE AL
LA ER
3.&ft.ame A (D) T8 & ®IE T&
C) ———3gm
A,
Financial leverage is measured by
EAIT EBIT
= ®) Ear
(©) EBIT (D) None of these
EBT

56. fc THAT 3 W fd 7 3T 1.5 B AT 3} 1 SR Yo &. 1571, al Yot hl AT arft

(A) 10% (B) 9%

©) 11% (D) T8 & I3 &I

If earning per share on equity shares is 1.5 and market value of shares is Rs. 15, then cost of capital
will be

(A) 10% (B) 9%

(C) 11% (D) None of these

57. UR=Te Ile fohtsh T Tra-¢ <l ATIAT & 7
(A) Teshl Toa 3R 3cuTes i @I
(B) farsht Tromear 3 3.+t 31E 0.
() fersht TorEg 3K .4t
(D) $.¥1.31E.&. 3 3T il AT

Operating leverage measures the relationship between
(A) Sales revenue and cost of production

(B) Sales revenue and EBIT

(C) Sales revenue and EBT

(D) EBIT and cost of production
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58. ISft @i e i & v
(A) ISt T T A &
(B) SAGETT Shi TATCTIHAT HAfeh &
(C) AYCRhdT o TN Sl 31k &
(D) S (A) 7T (B) T
Capital structure is ideal when
(A) Cost of capital is minimum
(B) Profitability of the business maximise
(C) Profitability and cost both are maximum
(D) Both (A) and (B) of the above

59. freAfeiftad § & HIH-T1 hesi Frwn FHT Y T AE 2 7
(A) T TR AT €9 § &1 & (n > 30)
(B) SHEET T &9 ¥ fadid 8
(C) I T &
(D) & for=tor 3114 2
Which of the following is not an assumption of the central limit theorem ?
(A) The sample size is sufficiently large (n > 30)
(B) Population is normally distributed

(C) Samples are independent
(D) The population variance is known

60. ‘ocd faf¥r’ =1 % U H BT |
(A) g (B) HTfETHI
(C) mre (D) &5 & 1 &
‘Density Method’ is applied in computing
(A) Mode (B) Median
(C) Mean (D) None of these

61. Tortlt Tnemor w9 & fomm foqwor d yamor formrem, wien famed & & ST BT B |

In a moderately asymmetrical distribution the standard deviation is equal to of mean deviation.
(A) 4/5 (B) 5/4 (C) 2/3 (D) 3/2
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62. T — Il AT — Il TTY Guferd i |

63.

a.
b.
C.
d.
I=
(A)
(©)

g -1
o
guh
e
RIS

feu TTe e # @ WA W T
<

a-ll,b-IV,c—1,d-Il
a-I,b=IV,c—1I,d-1l

Match List — | with List — II.

e o T @

List -1
Universe
Data
Mean
Mode

g -l
. 3fEa
II. SEE
1. 3ferhan

IV. =T

B) a=Il,b=1Ill,c—IV,d—1
D) a-Il,b—1lll,c—1I,d=1IV

List -1l
I. Average
Il. Population
Il. Maximum

IV. Information

Choose the correct answer from the code given below :
Code :

(A)
(©)

a-ll,b-IV,c—-1,d-Il
a-I,b=IV,c—1I,d-1lll

B) a—Il,b—1Ill,c—1V,d—1
D) a=Il,b—1Ill,c—1I,d=1IV

= € weF T T E | T 1 SANHRUA (A) IR gE I Tk (R) e T B |
AR (A) : TuHTCH HIfeTehl qoeh HIE, TEgfd, faecivur SR S o1 ST St 2 |

ek (R) : STTAT TIfEehl, TTeadT Sfd== qaiqAH gt 1 3w Fidt 7 |

ITdF FoR & ST o iR fbedt § & wE I A |
(A) (A) 3T (R) aHT &l & 3T (R), (A) I &l =T &
(B) (A) 31 (R) oI @&l &, W=q (R), (A) ! TE = T 2

(©)
(D)

(A) T& B, Tq (R) T @
(A) A 2, 9% (R) H&l &

GET IT ON
Google Play

Given below are two statements. One is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Descriptive statistics uses data collection, presentation, analysis and interpretation.
Reason (R) : Inferential statistics uses probability sampling, forecasting theories.

In the light of the above statements choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(©)
(D)

(A) is correct, but (R) is not correct
(A) is not correct, but (R) is correct
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64. TeId I I A

a. g = 3 W1 — 2 WLl

b. &N = 3 HIEehT — 2 WTEA

c. SENTh = 2 HILH + 1 HIfedeht

d. SIg = 3 eI + 2 HIEA

(A) e a, b, ¢ (B) ad b, ¢, d (C) %ad a, b, d (D) % a, ¢, d
Select the wrong answers :

a. Mode = 3 mean — 2 median

b. Mode = 3 median — 2 mean

c. Mode =2 mean + 1 median

d. Mode = 3 median + 2 mean

Choose the correct answer from the options given below :

(A) Onlya, b, c (B) Onlyb,c,d (C) Onlya, b,d (D) Onlya,c,d

65. ferdlt goft & TR Wew & foiw T fome =l &1 T BT @

(A) A (B) &TcH

(C) =RUITcH (D) 3TYe H | I3 T
The sum of deviations taken from the arithmetic means of a series is

(A) Zero (B) Positive

(C) Negative (D) None of the above

66. 52 TTl <hl AT <hl TE H © Ueh o1 Wi W 3Gk SICITE B <hl THEHAT 8

What is the chance of drawing a King in a draw from a pack of 52 cards ?

(A) 52 ® 'y © M3 © 14

67. el o df w1 wfared g3 o
(A) 1890 (B) 1980 (C) 1900 (D) 319 | IS &
Karl Pearson method was propounded in

(A) 1890 (B) 1980 (C) 1900 (D) None of these
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68. SAfdq hl THEAT-THIYH Tra-eft emdt ol faepfa s 61 waifas Iugea few fafy 2

69.

70.

(A) yftrent fatg (B) TEHEH

(C) JATITEAT TfST&Tor (D) TSI LT

The most suitable training method for developing person’s problem-solving ability is
(A) Role playing (B) Conference

(C) Laboratory training (D) Case study

TS o ot AHE TH1eE 6t 0Td a1 Hod 1 W19 TEEfd 8

(A) HHFE GHTEE T@TeRT § (B) G wi@iehd d
(OBRESEESCIET RS (D) | THTEA 3TeheTol §
Measuring cost and value of human resource for organisation is related to

(A) Human Resource Accounting (B) Social Accounting

(C) Financial Accounting (D) Human Resource Audit
= = we 3rgsRe § safem Fif |

| FfereeTSoTensh fagrd

II. 3TTeq Fagron fagm

. Tt fagra

V. SIS g
= feu Mo %< T ¥ 98 W ﬂ'ﬁﬂl :
%

(A) 1,11, 1V, 11l (B) 1,1V, 11, 1l

(C) 1, v, 1 (D) I, 1, 1v

Arrange the following steps in a sequence.
I. Psychoanalytic Theory
Il. Self-concept Theory
lll. Trait Theory
IV. Socialisation Theory

Choose the correct answer from the code given below :

Code :
(A) L1, 1v, 10 B) I, 1V, 1, 11
(C) 1,1, v, 1 (D) I, 1, v

-21-
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71. g - | g - 1% Ty gAferd & |

et - | gt -1l
a. Fgz | gt
b. Tl fagra Il S, TEH terd
c. Tg ge= foagma . s|
d. S g v, faferem Sit. sme=h
F= feu T e ¥ @ wE W g
%R
(A) a=IV,b=1ll,c—1,d-1I B) a=-ILb-1ll,c-1ll,d-1V
(C) a-Il,b=Lc—1ll,d=-1IV (D) a—1IV,b—-1Lc—1l,d-ll
Match List — I with List — II.
List -1 List -1l
a. Theory Z I. Herzberg
b. Equity theory Il. J. Stacy Adams
c. Two factor theory Ill. Broom
d. Expectancy theory IV. William G. Ouchi
Choose the correct answer from the code given below :
Code :
(A) a=IV,b=1Il,c—=1,d-1lI B) a=ILb-1ll,c=Ill,d-1V
(C) a-Il,b—=Lc—lll,d=-1V (D) a—1IV,b—1Lc—1l,d-ll

72. =ih 3R A8 o Teuh fire & AR fohe Aqca el o @i o fofe s1fass faar 3R 3eared = o
o T 1 fwar & 7
(A) TTTRISRTET STUTEH eed BOEFESERECE
(C) T™a yaEa (D) W Y&Ea

Which leadership style is characterised by high concern for people and low concern for production, according
to Black and Mouton’s managerial grid ?

(A) Authority compliance management (B) Country club management
(C) Impoverished management (D) Team management

73. form o yerem St § 3o g 3 w0 ggan 6 fagvar gt R ¢

(A) et (®) weEm

(C) & (D) EftireH

Which conflict management style is characterised by high assertiveness and low cooperativeness ?
(A) Competing (B) Collaborating

(C) Avoiding (D) Accommodating

-22- 68


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247
%

74. HagR fageryu i derdien fore faenfia i oft 7

(A) Teed "Il (B) et g

(C) Tt (D) TeH fe
Who developed the techniques of transactional analysis ?

(A) Elton Mayo (B) Peter Drucker
(C) Eric Berni (D) Adam Smith

75. TreAfaRad § @ 9 Wt &1 o= did T8l & ?

(A) TEIITd T AT (B) & % HHARI

(C) JeheR Td TeTed (D) B feream

Which of the following is not internal source of recruitment ?

(A) Promotion and transfer (B) Former employees
(C) Contractors and jobbers (D) Extension of services

76. TSF arfior TR TR Stffram uifia fomam

National Rural Employment Guarantee Act was enacted in
(A) 2004 (B) 2005 (C) 2001 (D) 2006

77. T & T A ° Safed Hif |
|. TE Td 3T hl STTE9Ihard
II. T 6T SATETIRaTd
III. TR <h1 STETIHATT
IV. YRR STTeavaehard

= feu Tu e § ° T IW g
He:
(A) 1,11, 1V, 111 B) 1, IV, 11l i (C) I, 1, 1V, | (D) IV, L, 1, 1l

Arrange the following steps in a sequence.
I. Needs of love and belongingness
Il. Esteem needs
[ll. Security needs
IV. Physiological needs
Choose the correct answer from the code given below :

Code :
(A) L1, 1V, B) I, 1V, I, 11 (C) 1,1, 1v, 1 (D) v, 1, 1,1
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78.

79.
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=1 =1 sk 3eRe O safea il |
|. TEenaT ol fafga s
II. ferspeai &1 g
1. fershedt w1 Yo
Iv. foereut 1 @
= feu MU e ¥ | T W g
&R
(A) L1, 1V, B) I, 1V, 1,11 (C) 1,1, 1v, 1 (D) I, 1, 1, v
Arrange the following steps in a sequence.
I. ldentification of problems
Il. Choice of alternatives
[ll. Evaluation of alternatives
IV. Search for alternatives
Choose the correct answer from the code given below :
Code :
(A) L1, 1v, I B) I, 1V, 1,11 (C) 1,1, 1v, 1 (D) I, 1, 1, v
T - | g - 11 % A1 gafad Hife |
et - | gt -1l
a. fRIm |. TR T ISR § Tray TTfUd T
b. HTSA I1. Frofa ST Ta e S
c. figem lIl. aTEafaeh S 1 qd-aifa AR § et e
d. T Iv. 3refieen w1 foew g
= feu MU e ¥ T T W T
®e:
(A) a=Lb=1ll,c=Il,d=1V B) a=Il,b=1l,c=1V,d-1l
(C) a=ll,b=1Il,c=1,d=1IV (D) a=1IV,b=1ll,c=1l,d-1
Match List — | with List — II.
List -1 List - Il
a. Planning I. Making relations in authority and responsibility
b. Organising II. Planning and decision making
c. Directing Ill. To compare actual work with pre-determined standards
d. Controlling IV. Direction to sub-ordinates

Choose the correct answer from the code given below :
Code :

(A) a=I,b—1ll,c—1Il,d—IV B) a—Il,b—1,c—1IV,d-Ill
(C) a=1lll,b=1Il,c—1,d=1IV (D) a=IV,b—1ll,c—1l,d—1
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80. 3TN, ofl. 3ME. HIT-91 & T&I HLdT 7

(A) Tr@ fEor (B)]%%Qﬁggfamﬁ-{w

(C) TerEmat =l =g /T T (D) Sl & Soh o €9 T 1 BT
Which one is not the work of RBI ?

(A) Credit control (B) Custodian of Foreign Currency
(C) Lending money directly to farmers (D) Banker’'s Bank

81. Hald gHHl deb I T 9 H1 HT B

(A) T =T (B) TSI &R
(C) &rfta = (D) frem =
Central Co-operative Bank works at

(A) National level (B) State level
(C) Regional level (D) District level

82. &Y UTHIUT ek < T HUSH H il feha U6 BId & 7
How many members are there in managing committee of RRB ?
(A) 6 (B) 8 (C) 9 (D) 15

83. T 1t A | wafedm Hifv |
I. 3,337, HYIA HUE
Il 331378,
I, TH.S.3E. A U
IV. Shepfer Sroied e Bme sfean

= fe T e § @ T W g
%<
(A) 1,11, 1V, 11l B) 1,1V, 1, 1l (©) I, 1,1V, | () 1, 1L, 11, IV

Arrange the following steps in a sequence.
[. UTI Mutual Fund
. UTl
[ll. SBI Mutual Fund

IV. Franklin Templeton Asset Management India

Choose the correct answer from the code given below :

Code :

(A) L1 Iv, I B) I, Iv, 1,1 (C) 1,1, v, 1 (D) I, 1, 1v
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84. =l g1 %o fou U & | U I STMEHUA (A) 3R GER I T (R) FET T @ |
TUHYA (A) : ST bl T 379 9 o fIf=mT =1 Tk Tecaqul & o1 va AW U 2 |
@k (R) : 9@ 1 fmior ek off SmaTiiss S 3tad i i gfg war 2 |
U AT o 3TTelieh § feAifera fershed # & TEl 3T T4 |
(A) (A) 3T (R) I W& 7 3R (R), (A) ! T&! = 2
(B) (A) 3R (R) THI Wl &, W (R), (A) *h1 HEl =@ el B
(C) (M) Wl 2, W (R) TTerd B
(D) (A)TTd &, W (R) Wl &

Given below are two statements. One is labelled as Assertion (A) and other is labelled as Reason (R).

)
)
)
)

Assertion (A) : Loan and advances comprise the important areas of the investment of their money by
Commercial Banks.

Reason (R) : Commercial Bank increase their fund also by creating credit.
In the light of the above choose the correct answer from the options given below.

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(C) (A)is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct

85. = & e fou U | uH 1 ATHHUA (A) 3R G Hl q (R) FHET TR |
AfreReA (A) : WRA fio/d S 1 gl ST 8 fdoat! 7 2 |
ek (R) : @@ 1 =01 w1 fiod d 1 i dfhT % R |
3T el b e H Fefefea fokedt § @ wE I A |
(A) (A) 3T (R) SHI T8 2 3R (R), (A) ! FE! = 2
(B) (A) 3R (R) GHI & 8, T (R), (A) I HEl =T T& 8
(C) (A)H&E &, W=q (R) Ted B
(D) (A)TTeId 8, W (R) W&l &

Given below are two statements. One is labelled as Assertion (A) and other is labelled as Reason (R).
Assertion (A) : The Central Office of Reserve Bank of India is in New Delhi.

Reason (R) : Control of credit is the Central Banking function of Reserve Bank.

In the light of the above choose the correct answer from the options given below.

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct
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86. TSR Yolwreh Yoo fufmm &
(A) T & 3c91G I o1 T =T shimel o s=m
(B) YRk 3fea qedt
(C) IR == oA
(D) YRR T g
Market penetration pricing is
(A) Selling same product at two different prices
(B) Initial fair price
(C) Initial high price

(D) Initial low price

87. Uid TIEAT Iredt Iusierar sha ol ufsean 9 wmifrer =i 2

(A) HEEIT AT T&=H HTT (B) TTHIIN &eh

(C) foreredi T HeaTehd (D) 33 fol

Five stages of consumers buying decision making process does not include
(A) Problem recognition (B) Social factors

(C) Evaluation of alternatives (D) Purchase decision

88. ‘IDIC’ CRM Ufd®&d # ‘D’ <kl dTcqd &

(A) Ficem e (B) ferafera s
(C) Tawdmu (D) TR

In ‘IDIC’ CRM model ‘D’ stands for

(A) Directing (B) Diverting
(C) Differentiating (D) Defining

89. WAGR o H-HeeHh WIS U5l Heh &
(A) TshaTeaeh (B) WTaTcHh
(C) TTH® (D) HAMTCHS
The first component of the tri-component model of attitude is
(A) Conative (B) Affective
(C) Creative (D) Cognitive
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90.

91.

92.

93.

freferfiad & & HF-a1 R ST T R 7

(A) gFT

(C) IS

Which of the following is not an agricultural input ?

(A) Tractor
(C) Pesticide

(B) st

(D) 3w o B IS T

(B) Seed

(D) None of the above

GET IT ON
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BT TUTeT Higd * IER, Frefafad § & -3 da1 % e o i @ g e

(A) Td
(C) FTETAT TorE

(B) FWTIHfd

DEERIERINING

As per the Service Quality Model, which of the following is not a determinant of service quality ?

(A) Tangibles
(C) Conformance quality

3cdTe e ol TWIfed 7 S ITeT 9oh @
(A) fomor

(©) forcfia

The factor not affecting product mix are
(A) Marketing

(C) Financial

o % I H HiFAfod 8l 8

(A) TTEehT Sl ST ST

(B) gfeewhivr # uftads &

(C) STTEhdl SEHT

(D) TS AT

Advertising objectives does not include
(A) Informing consumers

(B) Changing attitudes

(C) Developing awareness

(D) Making entertainment
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(B) Empathy

(D) Responsiveness

(B) 3c91q
(D) JANERH

(B) Production
(D) Shareholders
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94, Ty=fafaa § 4 wla-a1 faquor anfgesti o« 78 8 7

(A) STUTEH T T4 HEAT GRESEIRER T
(C) TaeH fshamd st (D) T gt e
Which of the following is not the function of channels of distribution ?

(A) Managing production (B) Managing finances
(C) Promotional activities (D) Pricing

95. frefeiRad § & -1 SHM 1 ISR o & 7

(A) eI a1 SATIHR (B) T & &1 AAferepR
(C) TTET T& i T IHR (D) efegfd 1 AR
Which of the following is not a Right of Surety ?

(A) Right of subrogation (B) Right to revoke

(C) Right to claim set off (D) Right to claim indemnity

96. Tifetfiad & & HH-91 Tk T H YR <hl ATIaT T8 & 7
(A) T 9T BT =1fET
(B) /& TorT Ufathet % &es BT =MfeT
(C) 9% TeHTEHTYds Tk BHT AT
(D) T & 1S &l
Which of the following is not a qualification of holder in due-course ?
(A) He must be a holder
(B) He must be a holder without consideration

(C) He must have become holder in good faith
(D) None of these

97. wfua 31 FHgfda = s o T §U AN @l HI Tehed Tal HL Fhdl, AT I 2|
(A) Hifeferer e (B) Hferera erferea
() fafere erfrea (D) JfeRToT HfereT % T@d ST
Secretary cannot reveal trade secrets which he comes to know during his course of employment is
(A) Statutory liabilities (B) Contractual liabilities
(C) Legal liabilities (D) Liabilities under agency contract
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98. 3AMHUY ASHT H 3TWCH o TF-Y H heldl fhdd & ?

(A) &1 80 CCA (B) &mt1 80 CCH
(C) 91T 80 CCG (D) 9mwT 80 CCJ

Deduction in respect of contribution to Agnipath Scheme is in

(A) Sec. 80 CCA (B) Sec.80 CCH
(C) Sec. 80 CCG (D) Sec.80CCJ

99. M-TTHRI HHTATNT T HANSH Wl
(A) qUTq: ST BIAT &
(B) qufa: M BT B
(C) 3if3Teh €9 & HW BT 2
(D) T3 &9 | FB &A1 § HEAT BT 8
Entertainment allowance for non-government employees are
(A) Fully exempted
(B) Fully taxable
(C) Partially taxable

(D) Partially taxable in selected areas

100. 3T &L fUfT & YrauHi & AR, 310m A gaell fohvd o g9 i fafy 2, ma ad &
(A) 15 S I 32T T8e
(B) 30 S[d <l 31ET T&ct
(C) 15 Torare sl AT Tt
(D) 30 forawsr =1 37ET Tgd

As per the provisions of the Income Tax Act, the due date of first instalment of advance tax is
of the previous year.

(A) On or before 15t June

(B) On or before 301" June

(C) On or before 15t September

(D) On or before 30" September
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